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Question Number : 1 Question Id : 8247244621 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Development of children proceeds from to

Options:

1. abstract; concrete.
2. general ; specific.
3. toe; head.

4. extremities ; centre.

Question Number : 1 Question Id : 8247244621 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 8247244622 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): Children from high income families spend their day very differently than children

from low income families.
Reason(R): Childhood is not universal and there is a lot of diversity of childhoods.

Choose the correct option.

Options:

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true and (R) is false

4. Both (A) and (R) are false

Question Number : 2 Question Id : 8247244622 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 8247244623 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A child learners to grasp large things (such as a ball) with hands before learning to pick up a pea

using pincer grasp. Which principal of development does this illustrate?
Options :

1. Cephalocaudal

2. Proximodistal

3. Equilibration

4. Conservation

Question Number : 3 Question Id : 8247244623 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 8247244624 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): Children learn knowledge, skills, values, customs of the society by their parents only.
Reason (R): socialization of children is a simple and linear process.

Choose the correct option.

Options:

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true and (R) is false

4. Both (A) and (R) are false

Question Number : 4 Question Id : 8247244624 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 8247244625 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Childrenin ...... stage understand object permanence but do not realize that actions can be

reversed and their judgments are based on immediate appearance of things.
Options :

1. Sensori-motor

2. Pre-operational

3. Concrete operational

4. Formal operational

Question Number : 5 Question Id : 8247244625 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 8247244626 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

For children who are in pre-operational stage teachers should -
Options :

1. use concrete props and a lot of audio-visual materials.

2. depict hierarchical relationships through complex diagrams.
3. give abstract problems to work upon.

4. give opportunities to solve problems that require hypothetical thinking.

Question Number : 6 Question Id : 8247244626 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 8247244627 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a correct example of scaffolding?
Options :

1. Dictating answers to questions



2. Providing prompts and cues
3. Offering materialistic rewards

4. Enabling conditioning of stimulus-response

Question Number : 7 Question Id : 8247244627 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 8247244628 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Lev Vygotsky believed that -

Options :

1. learning is mere absorption of knowledge.

2. learner is a controlled response to rewards.

3. knowledge can be transmitted from the teacher to the students in a passive manner.

4. knowledge is co-constructed in a zone of what the child can do independently and with support

from others.



Question Number : 8 Question Id : 8247244628 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 8247244629 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

At which stage of Lawrence Kohlberg's moral development theory do individuals reason that

human rights and justice is most important even if they go against the societal laws?
Options:

1. Obedience and Punishment Orientation

2. Good boy-good girl orientation

3. Authority and social-order maintaining orientation

4. Universal Ethical Principles orientation

Question Number : 9 Question Id : 8247244629 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 8247244630 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a progressive classroom, learning-

Options :

1. is a simple process.

2.is a social process.

3. can take place only through formal instruction.

4. is conditional upon exams.

Question Number : 10 Question Id : 8247244630 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 8247244631 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a correct Howard Gardner?

Options:

1. Intelligence cannot be nurtured and grown.

2. Each individual possesses different kinds (s) of intelligence.
3. Intelligence quotient is a successful predictor of intelligence.

4. People belonging to certain class are more intelligence than others.

Question Number : 11 Question Id : 8247244631 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 8247244632 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

At the primary level, National Education Policy 2020 proposes as the medium of

instruction across the nation.
Options :

1. Hindi

2. English

3. Sanskrit

4. Mother tongue / Home language

Question Number : 12 Question Id : 8247244632 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 8247244633 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Flexible seating arrangement, learners working in groups, are characteristics of a -



Options :

1. Behaviouristic classroom.

2. Socio-constructivist classroom.
3. Teacher centric classroom.

4. Textbook centric classroom.

Question Number : 13 Question Id : 8247244633 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 8247244634 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What kind of pedagogy would enable a teacher to cater to individual differences among learners

in her class?

Options:

1. Standard and uniform

2. Totally centered around exams

3. Totally centered around textbooks

4. Engaging and contextual



Question Number : 14 Question Id : 8247244634 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 8247244635 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The aim of assessment according to National Education Policy 2020 is -
Options :

1. testing rote memorization.

2. measuring reproduction and recall.

3. to support children in the process of learning.

4. to arrive at parameters to compare children across the country.

Question Number : 15 Question Id : 8247244635 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T TRTET T 2020 F ATAR ToAHA H 3279 F4T 27



Options :

1 T2 ST ST S U

, Wamw% =T HaT T T

3. TSI T EE T IR  HEE T

™ =

P = @rgm-ﬂ 7 % OIS §91

4.

Question Number : 16 Question Id : 8247244636 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Inclusion means -

Options:

1. embracing all students irrespective of their social identities.
2. ignoring the barriers that create undue effort and separation.
3. promotion of discrimination and intolerance of differences.

4. unequal opportunities of participation and engagement.

Question Number : 16 Question Id : 8247244636 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 8247244637 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

For successful inclusion of students belonging to diverse cultural backgrounds, which of the

following should be avoided by the teacher?

Options :

1. Acknowledge and respect every student.

2. Give priority to the experiences of dominant groups.
3. Incorporate diversity in the content of teaching.

4. Practice cultural sensitivity in classroom.

Question Number : 17 Question Id : 8247244637 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 8247244638 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Dyslexia is primarily associated with difficulty in:
Options :

1. Reading

2.Singing

3. Thinking

4. Walking

Question Number : 18 Question Id : 8247244638 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:

Question Number : 19 Question Id : 8247244639 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following practice will be effective in ensuring inclusion of students with learning



disabilities?

Options:

1. Allow only fixed mode of expression

2. Attribute failure to lack of ability

3. Give very long and frequent assignments

4. Provide several alternatives for receiving information

Question Number : 19 Question Id : 8247244639 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 8247244640 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Students with giftedness-

Options :

1. absorb information quickly and accurately.

2. are incapable of solving questions below their age-levels.

3. have a tendency to opt for simple and easy tasks.



4. lack intuitive understanding of the basics.

Question Number : 20 Question Id : 8247244640 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 8247244641 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher should her students for making intuitive guesses to answer a question.
Options :

1. encourage

2.ignore

3. punish

4. restraint

Question Number : 21 Question Id : 8247244641 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 22 Question Id : 8247244642 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following should be avoided while helping students to elaborate on a recently

learned concept?

Options :

1. Acting out the relations between various sub-concepts
2. Creating examples and non-examples of the concept
3. Apply the acquired information to new problems

4. Writing on board and asking students to copy the same without understanding.

Question Number : 22 Question Id : 8247244642 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 8247244643 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Students' failure can be minimalized by implementing a curriculum which is
Options :

1. connected to their social context.

2. highly challenging and complex.

3. irrelevant to their everyday life.

4. moving from abstract to simple.

Question Number : 23 Question Id : 8247244643 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 8247244644 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

For meaningful learning to take place, it is important to-
Options :

1. develop competitive culture in the classroom.

2. give space to children's views and experiences.

3. present information in disconnected chunks.

4. provide examples which are not related to student's social context.

Question Number : 24 Question Id : 8247244644 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 8247244645 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following should be avoided by a teacher while teaching a new concept to students?



Options :

1. Ask them to find common attributes among given examples

2. Present non-examples related to the concept

3. Present the complex concepts first and then move to simpler ones

4. Relate the new content with previous knowledge

Question Number : 25 Question Id : 8247244645 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 8247244646 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

After answering the questions based on recall of specific information a students is reflecting on

what cues helped her. By doing so, the students is developing
Options :

1. delayed imitation.

2. ego-centricism.

3. meta-cognition.



4. over-justification.

Question Number : 26 Question Id : 8247244646 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 8247244647 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A step-by-step prescription of achieving a goal is called
Options :

1. algorithm.

2. heuristics.

3. means-end analysis.

4. mnemonics.

Question Number : 27 Question Id : 8247244647 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 8247244648 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Misconceptions among students represent their
Options:

1. extremely flawed and irrational thinking process.
2. higher-order emotional and intellectual abilities.

3. native and intuitive understanding about concepts.

4, severe cognitive deficiencies and neurological disorders.

Question Number : 28 Question Id : 8247244648 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 8247244649 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is likely to cause pride among students?
Options :

1. When failure is seen as caused by oneself

2. When failure is seen as caused by others

3. When success is seen as caused by oneself

4. When success is seen as caused by others

Question Number : 29 Question Id : 8247244649 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TrAfeigs 3 & i € feurfa faamte=t 3 7= o1 R0 &9 95T 27

Options :

1 & STHEACT T HR =g T 9197 ST 2

S HAHRACI Thl HIUI Eﬁﬂﬁﬁ ST A4l %|

5. TS THAT T SR T I HET T 2

oS,

S HReAdl hl hTU] Eﬁ\ A RCAR=ICIRS IG1 %|




Question Number : 30 Question Id : 8247244650 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is an example of Intrinsic motivation?
Options :

1. Ishould study because it is important to understand the concept.

2. Ishould study to avoid the punishment by teacher.

3. Ishould study to gain first position in the competition.

4. 1should study to get praise and dominance over my peers.

Question Number : 30 Question Id : 8247244650 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Mathematics

SectionId : 824724133

Section Number: 2



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30

Section Marks : 30

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 824724253
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 8247244651 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

How many hundreds are there in 253477

Options :

4. 25300

Question Number : 31 Question Id : 8247244651 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
25347 7 fohae &g (V1) 22
Options :

1. 300



Question Number : 32 Question Id : 8247244652 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

I am a 2-digit odd number and greater than 24 X 4.
My ones and tens digits are equal.
What number am I?

Options :
1. 87

2. 88

4. 99

Question Number : 32 Question Id : 8247244652 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T ST A U I WEATE AR 24 X 4 W ARTH T
Y THTE 311 22T 3 375 aE B

& o ot e

Options :

1. 87



3. 97

Question Number : 33 Question Id : 8247244653 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the difference of the place values of two 7s in the number 2768757
Options :
1. 69993

5> 699730
3. 699970

4. 69930

Question Number : 33 Question Id : 8247244653 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. 69993

5 699730



3. 699970

4. 69930

Question Number : 34 Question Id : 8247244654 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The product of 0.013 and 0.07 is equal to

Options :
1. 0.00091
2. 0.0091

3. 0.000091

4. 0.091

Question Number : 34 Question Id : 8247244654 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
0.013 3T 0.07 F1 THHA & -

Options :
1. 0.00091
2. 0.0091

3. 0.000091

4. 0.091



Question Number : 35 Question Id : 8247244655 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the data given in following table and select the correct statement:

The drink liked by children Number of children
Milk 30
Coffee 25
Tea 35
Lemonade 10
Options :

Children who like lemonade are 3 of the total number of children.

2. Children who like coffee are one-fourth of the total number of children.
3. The number of children who like tea is less than the number of children who like milk.

4. The number of children who like coffee is more than the number of children who like milk.

Question Number : 35 Question Id : 8247244655 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.
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Question Number : 36 Question Id : 8247244656 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the measure of the angle formed by the hands of the clock at 2°0 clock?
Options :

1. 30°

N
=
LA

3. 60 °

4, 90°

Question Number : 36 Question Id : 8247244656 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

2 S TS St WA ERT SATE S T 10T i HIT =T BT
3

Options :
1. 30°



2 45°
3. 60°

4. 90°

Question Number : 37 Question Id : 8247244657 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Bincy wants to spend least amount on purchasing decorative items. Which of the following she should select to spend
the least amount?

Options :

1. 16 dozen items at T18.50 each.

o 170 packets at ¥21.50 each

3. 12 dozen items at ¥25.00 each

220 packets at Z16.50 each

Question Number : 37 Question Id : 8247244657 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Tt T 1 g T O e T G A e ) Ao 4 6 9 1 A (e 7, T e e
g

Options :

1 Z18.50 mﬂﬁﬂﬁ 16 T aﬁj
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Question Number : 38 Question Id : 8247244658 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The table shows the change in the length of a plant (in cm) during different weeks:

Week Length of the plant (in cm)
Week 1 0.5
Week 2 27
Week 3 5.8
Week 4 8.6
Week 5 11.5

The length of the plant change the most from

Options :
1. Week 1 to week 2

2. Week 2 to week 3

3. Week 3 to week 4

4. Week 4 to week 5

Question Number : 38 Question Id : 8247244658 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 39 Question Id : 8247244659 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Meeta and Bunty were counting the faces (surfaces) of various shapes. The number of faces in a cube, cylinder, cuboid
and sphere respectively are:

Options :
1. 8,3.8.1
5 6.4.6.1

3 8.4,81

4 6.3.6.1



Question Number : 39 Question Id : 8247244659 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ST AT 58 AT A ST o e () T 2 9 9, 9, AT ST T 3 e o T 7T 7

Options :
8« 3'? 8-.- I

6,46, 1

8,4,8,1

Question Number : 40 Question Id : 8247244660 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following fractions is less than% and greater than% ?

Options :

E

1. 10

17
3. 24

26



Question Number : 40 Question Id : 8247244660 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Loy 7 . A & a
ﬁmﬁ%ﬁﬂﬁﬁq"@ﬁﬁq———ra Hmaﬂ'{g T e 27
Options :

9
1. 10

17

26

Question Number : 41 Question Id : 8247244661 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The average heights of five friends is 150cm. If the heights of 4 of these friends are 153cm, 150cm, 151cm and 147cm,
then the height of the fifth friend is

Options:
1. 148cm

2. 149cm

3. 150cm



4. 1531lcm

Question Number : 41 Question Id : 8247244661 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T R 3t S T 150 oo B G S 9 6 e 153 e, 150 e, 151 e AR 147 om B,

Options :
1. 148 cm

> 149 em
3. 150 cm

4. 131 cm

Question Number : 42 Question Id : 8247244662 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Team A scored 368 runs in first innings and 438 runs in second innings. Team B scored 395 runs in first innings and 439
runs in second innings. Which team won the match and by how many runs?

Options:
1. Team A, 18 runs
2. Team B. 18 runs

3. Team A. 8 runs

4. Team B. 8 runs



Question Number : 42 Question Id : 8247244662 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

9 A el TRT 368 7 S GRT T 458 T 7 B el T 395 T SR G0 O 7 430 T
T 2 3 1 A o R R Y
Options :

. THA. 1877

, MB,18W

3. THA. 87T

4. dH B, 8T

Question Number : 43 Question Id : 8247244663 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A train departs from New Delhi Railway station at 5:30 on 28 September 2021 and reaches Chennai at 21:30 the next
day. What is the travel time taken by the train?

Options :
1. 40 hours 20 minutes
2. 45 hours 10 minutes

3. 42 hours 20 minutes

4. 41 hours 30 minutes



Question Number : 43 Question Id : 8247244663 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T 37 7 el Tord W9 4 28 TR 2021 371 5:30 79 TR o 8 4 oo 67 2150 91 2% T 2
S5 o e e 27

Options :

1. 40702 20 T2

, 4570 10 e

3 42702 20 e

4. 419102 30 T2

Question Number : 44 Question Id : 8247244664 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Identify a number, which is a multiple of 5 and 7 but not of 6, from the given options:
Options :
1. 210

4. 420

Question Number : 44 Question Id : 8247244664 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
om0 Torahedl = ¥ 39 HREAT i U=, S 5 S 7 % 0 2, A 6 A 2

Options :
1. 210

5, 280
3. 630

4. 420

Question Number : 45 Question Id : 8247244665 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following letters have both horizontal and vertical lines of symmetry?
Options :
1. E

Question Number : 45 Question Id : 8247244665 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Treaferfas o o o7 o7 T TS ofF SegTem EHT TR ] §HTHTd 1@ 29

Options :




Question Number : 46 Question Id : 8247244666 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Given below are two statements marked as Assertion (A) and Reason (R).

(A): A mathematics curriculum should be coherent.

(R): Students can see how the one mathematical idea connects with other, thus enabling them to develop new
understandings and skills.

Choose the correct option.

Options :
1. Both (A) and (R) are true and (R) is the correct reason of (A).
5 Both (A) and (R) are true but (R) is not the correct reason of (A).

3. (A) is true but (R) is false.

4. (A) is false but (R) is true.

Question Number : 46 Question Id : 8247244666 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



AR fem . 2 i (A) S ER (R) F e e e T

AR (A) : VTS W 1 e T e

S (R) : e e o o o O e 6 o 0 1 1 0 T 1 75 9 T
! e T A A 7

Options :

(A) ¥ (R) 3T T2 & S (R) TET HIOTE (A) F)

1

, (A) 3R (R) ST @21 & W (R) & 01 721 2 (A) F71
, (A) TE BTG (R) Tem 2

, (A) TR ST (R) T R

Question Number : 47 Question Id : 8247244667 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is an important feature of a constructivist classroom?

Options :

1 Students solving problems given in the textbook based on the example solved.
5 Teacher giving instructions to do an activity and students are repeating procedures explained by the teacher.

Students are asked to sort the different objects given to them according to their attributes like colour, shape. size, weight
3, &t

4. Students are busy copying questions that are solved on the blackboard in their notebooks.



Question Number : 47 Question Id : 8247244667 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
AT o ¥ H1-HT T=ATeTe e U5 Tawqu] SI&r 27
Options:
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Question Number : 48 Question Id : 8247244668 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is/are important feature/features of a primary class textbook?
(a) Concepts should be linked to the daily life experiences of children.
(b) Concepts should be explained using only mathematical language and symbols.
(¢) Focus should be on solving problems using formal algorithms.
(d) The concepts should be introduced with concrete examples wherever possible.
Choose the correct option.

Options :
~(a)and (c)

1
5 only (¢)

5 (0) and (d)

4. (@)and (d)



Question Number : 48 Question Id : 8247244668 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 8247244669 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following is NOT a part of primary school curriculum?
Options :

1. Tessellations

2. Fractions



3. Linear equations

4. Regular 2-D shapes

Question Number : 49 Question Id : 8247244669 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
fr=Afefgs & & =-a1 Tufye T %ru@e-mq?ﬂms%w?ﬁ%‘?
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Question Number : 50 Question Id : 8247244670 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT true about the Nature of Mathematics?

Options :
1. Mathematical concepts are arranged in a hierarchical manner

> Mathematics is based on Inductive Reasoning

3. Mathematical concepts are abstract in nature



4 Mathematics has its own set of symbols, words and language

Question Number : 50 Question Id : 8247244670 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
ffeIftad o & FiF-97 TUTe 1 THid % a1 § 96l T8 27
Options :
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Question Number : 51 Question Id : 8247244671 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When asked to write ‘six thousand and fifty” in numerals, a student wrote the answer as ‘650°, Which of the following
statements is most appropriate for the given context?

Options :
1 Student should be given 10 similar type of problems to solve.
5 The concept of base 10 and place value should be strengthened using concrete materials.

3. The teacher should give the right answer and move to the next question

g Isa careless mistake, hence the teacher should not waste her time on such mistakes.



Question Number : 51 Question Id : 8247244671 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 52 Question Id : 8247244672 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following will enhance problem-solving abilities among learners?
Options :

1. Solving problems based on a solved examples given in the textbook.

o Solving problems by representing mathematical situations/problems through pictures, symbols, drawings ete.

3. Solving problems given in a mental-math workbook.

4 Emphasizing on solving problems using formal algorithms.



Question Number : 52 Question Id : 8247244672 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
eTeATEd = | FH-91 I § Fea-eTeT 1 Saaret | grg FH0
Options :
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Question Number : 53 Question Id : 8247244673 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following concepts can be taught using Dienes Blocks?
Options:

1. Addition. Place Value, Subtraction

2. Addition. Place Value, Fractions

3. Addition. Subtraction., Volume

4 Place Value, Fractions. Shapes

Question Number : 53 Question Id : 8247244673 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 8247244674 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Raj Lakshmi was playing a game of marbles. She lost 6 marbles in the game and is now left with 8 marbles. With how
many marbles did she start the game?
The above situation is

Options :

1. Acontextual question on addition
5 A contextual question on subtraction
3. Acontextual question on division

4. Not a contextual question

Question Number : 54 Question Id : 8247244674 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 55 Question Id : 8247244675 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The purpose of mathematical puzzles is to promote:
(a) Drill and Practice
(b) Interest in Mathematics
(c) Problem solving skills
(d)Rigour in algorithms
Choose the correct option.

Options :
~(a)and (d)

1
5 only (d)

5, (Band

4. (@) and (c)



Question Number : 55 Question Id : 8247244675 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
T R e o1 Sev 31 T ST 2
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Options :
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Question Number : 56 Question Id : 8247244676 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

There are five rules of Newman’s Error Analysis. They are given in random order.
(a) Comprehending the question
(b) Transformation to mathematical symbols
(c) Reading the question
(d) Interpreting the answer
(e) Performing mathematical procedures
Choose the option with the correct sequence.

Options :



. (). (©). (). (b). (d)

—

5 (©). (@, (). ©). @
5. ©. @, @), @. ©)

4. (0): (). (&), (d). (¢)

Question Number : 56 Question Id : 8247244676 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1 (@) (c) (e) (b) (d)

, (¢)(a)(b)(e) (d)

3 (c)(a) (e) (d) (b)

4 (0)(a)(e)(d)(c)

Question Number : 57 Question Id : 8247244677 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of an open-ended question?

Options :

1. List five whole numbers between 136 and 142

o Sum of two numbers is 35. If one of the numbers is 16, what will be the other number?

The length and breadth of a rectangle are in the ratio 3 : 5. If the perimeter of the rectangle is 64 cm, find its length and
3. breadth?

4. List four numbers which are greater than the number formed by 7 tens and 8 ones.

Question Number : 57 Question Id : 8247244677 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
ﬁﬁ%%ﬁﬁﬁﬁmmmfﬁigm T =) o T SeTEr R

Options :
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Question Number : 58 Question Id : 8247244678 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following can be included in a Summative Assessment?

Options :
1 Field trips

2. Peer Assessment

3. Term-End examination

4. Anecdotal Records

Question Number : 58 Question Id : 8247244678 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 8247244679 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

“When asked to multiply 45 by 3, a student adds 45 five times”. Which of the following statements is most appropriate
with respect to the given context?

Options :



1. The student does not have conceptual understanding of multiplication.
> The strategy used by student reflects her creativity as she is able to extend the knowledge of addition in multiplication.
3. The strategy used by student cannot be used in written examination.

4. The use of formal algorithm for multiplication needs to be emphasized over the use of informal strategies.

Question Number : 59 Question Id : 8247244679 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 60 Question Id : 8247244680 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The National Curriculum Framework 2005 Position paper on Teaching Mathematics states, “Crude methods of
assessment encourage perception of mathematics as mechanical computation”. Which of the following most
appropriately explains the meaning of the given statement?



Options :

The nature of assessment in mathematics has led to mathematics being referred to as comprising of only procedures and
1 computational skills required to solve a problem.

o Only formative assessment methods should be a part of assessment in mathematics.

Computational skills are important part of mathematics education hence should be taught through activities using
3. concrete material.

4. Computational skills in mathematics are not required at primary level hence should be focused upon in higher classes.

Question Number : 60 Question Id : 8247244680 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 61 Question Id : 8247244681 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The distance between Madgaon and Nagarcoil is nearly 1134 kilometers. If this distance is covered
by a train in 21 hours, the average speed of the train between the railway stations of these two

cities in metre per second is
Options :

1.15

2.27

3.30

4. 54

Question Number : 61 Question Id : 8247244681 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. 13
2 27

3. 30

Question Number : 62 Question Id : 8247244682 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A student is at A and wants to reach at B. For this he first goes to O which is 90m due north of A
and then he goes from O to B by covering a distance of 120m in due west direction. The minimum

distance of A from B and the direction A with respect to B respectively are
Options :

1.210 m; South-West

2.210 m; South-East

3. 150 m; South-East

4. 150 m ; South-West

Question Number : 62 Question Id : 8247244682 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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150 m; Sreorue

150 m ; STRUT-OT

Question Number : 63 Question Id : 8247244683 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Select true statement about sloth from the following.

Options :

1. Sloths live for about 40 years and spend almost 17 hours a day sleeping while hanging upside
down on a tree branch.

2. Sloths live for about 10 years and spend almost 20 hours a day sleeping while hanging down on

a tree branch.

3. Sloths live for about 17 years and spend almost 20 hours a day sleeping under a tree. They also

eat the leaves of the some tree.

4. Sloths live for about 10 years and spend almost 20 hours a day sleeping while hanging on a tree

branch. They also eat the leaves of the some tree on which they live.

Question Number : 63 Question Id : 8247244683 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 64 Question Id : 8247244684 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Woollens keep us warm in winters. The reason for woollens being insulators is that
Options:

1. Woollen fibres are tightly wrapped with each other and do not allow cold air to pass.
2. Woollen fibres have air trapped within them and air is an insulator.

3. Woollen fibres are thick and control the outside temperature.

4. Woollen fibres are thick and do not allow cold air to pass through.

Question Number : 64 Question Id : 8247244684 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 65 Question Id : 8247244685 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

On the map of Golconda Fort printed in the textbook of class V, 1cm distance is equal to a distance
of 110 m on the ground. On this map the distance between Fateh Darwaja and Banjara Darwaja is

14.2 cm. On the ground the minimum distance between the two would be
Options :

1.15.62 km

2.14.20 km

3.1.562 km

4.1.420 km

Question Number : 65 Question Id : 8247244685 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1. 15.62 km

2 14.20 km

3. 1.562 km

4. 1.420 km



Question Number : 66 Question Id : 8247244686 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A group of three states having Arabian Sea on one side is
Options :

1. Kerala, Karnataka, Maharashtra

2. Kerala, Karnataka, Andhra Pradesh

3. Odisha, Andhra Pradesh, Maharashtra

4. Maharashtra, Kerala, West Bengal

Question Number : 66 Question Id : 8247244686 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 67 Question Id : 8247244687 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

There is a dance in which people sit in pairs in front of each other, holding bamboos sticks on the



ground. As the drum beats, the bamboos are beaten to the ground. The dancers step in and out of
the bamboo sticks and dance to the beat. The name of the dance and the state where it is

performed respectively are
Options :

1. Torang ; Mizoram

2. Kuduk ; Jharkhand

3. Cheraw ; Mizoram

4. Jhoom ; Jharkhand

Question Number : 67 Question Id : 8247244687 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 68 Question Id : 8247244688 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The name of the fifth woman in the world and the first Indian woman to reach the peak of Mount

Everest is



Options :

1. Bachhendri Pal

2. Sunita Williams

3. Karnam Malleshwari

4. Santosh Yadav

Question Number : 68 Question Id : 8247244688 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 69 Question Id : 8247244689 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Select the correct statement from the following about the famous Indian festivals namely Holi and
Diwali.

Options :

1. Both are celebrated on full moon day (Purnima)

2. Both are celebrated on no moon day (Amavasya)

3. Diwali is celebrated on full moon day and Holi is celebrated on no moon day.

4. Diwali is celebrated on no moon day and Holi is celebrated on full moon day.



Question Number : 69 Question Id : 8247244689 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 70 Question Id : 8247244690 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statement in connection with ‘Desert Oak’
(A) This tree grows almost as tall as a general classroom wall.
(B) This tree is found in Abu Dhabi.

(C) The trunk of this tree stores water. Local people drink this water using pipes as and when need

arises.
(D) The roots of this tree go nearly 30 times its height till they reach water.

(E) This tree has large number of branches full of leaves.



The correct statements are
Options :

1.A,Cand D

2.A,Band D

3.A,DandE

4.A,B,CandE

Question Number : 70 Question Id : 8247244690 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 71 Question Id : 8247244691 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

There are villages in our country where, because of frequent heavy rain, the villagers build their
houses almost 10 to 15 feet (3 to 3.5 metres) above the ground on bamboo pillars. The inner sides

of the houses are made of wood. These villages must be in
Options :

1. Himachal Pradesh

2. Tamil Nadu

3. Assam

4. Uttarakhand

Question Number : 71 Question Id : 8247244691 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 72 Question Id : 8247244692 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Most of the common people of which one of the following states/union territory of our country

prefer to eat boiled tapioca with any curry made using coconut



Options :

1. Andhra Pradesh
2. Goa

3. Tamil Nadu

4. Kerala

Question Number : 72 Question Id : 8247244692 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 73 Question Id : 8247244693 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The best period for the people of Bihar state the process of bee-keeping is
Options :

1. October to December

2. July to September

3. April to August

4. January to March



Question Number : 73 Question Id : 8247244693 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 74 Question Id : 8247244694 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In the context of nutrition of human beings, assimilation means

Options :

1. absorption of digested food in the intestinal walls and entering the blood stream.
2. absorbed material are transferred to different body parts.

3. digested material is utilised in making complex substances in the body.

4. the undigested material is not absorbed & sent to large intestine.

Question Number : 74 Question Id : 8247244694 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 75 Question Id : 8247244695 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider about the soil of a field in which a farmer is growing paddy crop over and over again
using excess of chemical fertilizers and pesticides in his fields. In your opinion this practice will

make soil of the fields

Options :

1. more fertile for other crops.

2. fit for the paddy crops only.

3. more suitable for multiple crops in a year.

4. barren after some time.

Question Number : 75 Question Id : 8247244695 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 8247244696 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The purpose of home assignment in EVS is
Options:

1. Revision and reinforcement

2. Utilisation of time at home

3. Mastery of concepts learnt in school

4. Extension of learning

Question Number : 76 Question Id : 8247244696 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 77 Question Id : 8247244697 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Sheela has taken up sub theme ‘Animals’ to teach class - III students. Which of the following

activities will be beneficial for extension of their learning.
Options:

1. Reciting names of local animals from a poem

2. Seeing picture of zoo animals and local animals

3. Seeing animal in a zoo

4. Seeing cut-outs of animals

Question Number : 77 Question Id : 8247244697 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 8247244698 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which is the most appropriate strategy to find out about festivals celebrated in the community

that are linked with water?

Options :

1. Peer group learning

2. Watching videos on festivals of the community

3. Talking to the elders in the family and community

4. Discussing with the teacher

Question Number : 78 Question Id : 8247244698 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 79 Question Id : 8247244699 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Why are there no textbooks of EVS in class I and II?

Options:

1. Process skills of EVS are taught through games suggested in teacher’'s handbook.

2. Important concepts of EVS are taught through interactive activities conducted by teachers.
3. Concepts and skills pertaining to EVS are taught through language and maths.

4. Concepts and skills pertaining to EVS are taught through language teaching.

Question Number : 79 Question Id : 8247244699 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 8247244700 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of socio - cultural environment?
Options :

1. Water

2. Forests

3. Monuments



4. Community

Question Number : 80 Question Id : 8247244700 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 8247244701 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The approach of presentating EVS concepts at primary level to such that students have to consult
members of family and community to find out about type of food, shelters etc. The reason for this
is:

Options :

1. Students are close to their family and community.

2. Family and community are more knowledgeable about food, shelter etc.

3. Students’ socio - cultural background is primary source of learning.

4. Psychological principles of Piaget are based on social interactions for learning.

Question Number : 81 Question Id : 8247244701 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 8247244702 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following strategy is most appropriate for teaching EVS to the cognitively impaired

students.

Options :

1. Make a mixed peer group in class

2. Develop more of audio lessons to teach

3. Break the tasks into parts and complete the parts separately

4. Use more of tactile teaching - learning materials

Question Number : 82 Question Id : 8247244702 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 8247244703 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which is an important step to analyse the content of EVS in lesson planning?
Options :

1. Objectives of the content are framed

2. Resources to teach the content are identified

3. Assessment of instructional objectives are planned

4. Concept map is drawn

Question Number : 83 Question Id : 8247244703 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 84 Question Id : 8247244704 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The word ‘Comprehensive’ in continuous and comprehensive evaluation is related to
Options :

1. Cognitive Level

2. Co-curricular Activities

3. Holistic Development

4. Scholastic Areas

Question Number : 84 Question Id : 8247244704 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 8247244705 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which is an examples of assessment for learning in EVS?

Options :

1. Student to find out coastal states of India on the map of India through work-sheets.
2. Annual exams to promote students to next grade.

3. Half-yearly test to find out the level of achievement of EVS concepts.

4. Test at the end of each unit to inform their achievement to parents.

Question Number : 85 Question Id : 8247244705 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 8247244706 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Select pedagogical practices to enhance experiential learning in EVS (according to NEP, 2020)

A. Focusing on key concepts of EVS.



B. Integrating of arts in pedagogy of EVS.

C. Integration of story - telling in teaching of EVS.
Options :

1. AOnly

2.B Only

3.B & COnly

4. A& B Only

Question Number : 86 Question Id : 8247244706 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T e (WA, 2020 F S 7 ERREICE G 5 31 9 o T S o T it
A, AT T 1 T AT O S 5
B. TR ST T4 B e 1 TR
C. VAT SRR T S e 7 T AR e

Options:
1 FETA

Question Number : 87 Question Id : 8247244707 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

An EVS teacher asks her students to find out about eating habits, country of origin, external



features such as size, colour, hair etc. of zoo animals on a visit to zoo. Through this activity, what

process skills does she promote?

Options :

1. Observation, Questioning, Communication, Experimentation
2. Questioning, Classification, Measurement, Communication
3. Observation, Questioning, Sensitivity, Communication

4. Questioning, Observation, Sensitivity, Experimentation

Question Number : 87 Question Id : 8247244707 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 8247244708 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which is a theme in EVS at primary level?
Options:

1. Water



2. Weather
3. Materials

4. Animals

Question Number : 88 Question Id : 8247244708 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 89 Question Id : 8247244709 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of these is a higher order question a teacher will select in assessment of EVS?
Options :

1. What are five roots we eat?

2. What would happen if there is no petrol and diesel on earth?

3. What is the green colour of leaves due to?

4. What are steps of harvesting wheat crop starting from sowing seeds?

Question Number : 89 Question Id : 8247244709 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 8247244710 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Five (5) groups of eight (8) students performed a skit each to depict ways of preserving wild life.

Their creative expression and understanding of EVS concepts can be assessed most appropriately
by

Options :

1. Portfolios

2. Rubrics to assess performance and understanding of EVS concepts

3. Observation and recording of performance

4. Pen-paper test after the performance to check the EVS concepts

Question Number : 90 Question Id : 8247244710 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Language I

SectionId: 824724135

Section Number : 4

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 17

Number of Questions to be attempted : 17

Section Marks : 30

Enable Mark as Answered Mark for Review and

Clear Response: Yes

Sub-Section Number : 1

Sub-Section Id : 824724255

Question Shuffling Allowed : Yes

Question Id : 8247244711 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



Read the passage given below and answer the question that by choosing the correct/most
appropriate options.

1. Development has indeed caused a high degree of environmental degradation in many
countries and not just the displaced people but all of the population is beginning to feel the
consequences. When the ‘tsunami’ hit the South and South — East Asian coasts in 2004, it was
observed that the destruction of mangroves and the building of commercial enterprise along the
shore line was the reason for the greater extent of the damage caused. You must have read
about global warming. The ice in the Arctic and Antarctic is melting because of increased
emission of greenhouse gases into the atmosphere and this has the potential to cause floods
and actual submerge low lying areas like Bangladesh and the Maldives. In the long term, the
ecological crisis will adversely affect all of us. Air pollution is already a problem which does not
discriminate between the rich and the poor. But in the short term, indiscriminate use of
resources tends to adversely affect the underprivileged more sharply. Loss of forest affects the
poor who use forest resources for a variety of subsistence needs like firewood , medicinal herbs
or food

2. Drying up of rivers and ponds and falling ground water levels means that women have to
walk longer in order to procure water. The model of development we are pursuing is heavily
dependent on the increasing use of energy. Most of the energy currently generated in the world
is from non-renewable sources like coal or petroleum. Large tracts of the Amazon rainforests
are being deforested in order to provide for the increased consumer needs. Are there enough of
these non-renewable resources which can allow not only the advanced countries but all people
in the world to enjoy an affluent life style? Given the finite nature of these resources, the
answer would be no. What about the future generations? Are we going to hand over a depleted
earth and multiple problems to them?

Sub questions

Question Number : 91 Question Id : 8247244712 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



What is meant by ‘Development’ as the cause of
environment degradation?

1. Increasing population and changing life styles of the
people

2. Mushroom growth of urban centres and human
settlements

3. Deforestation, emission of greenhouse gases,
construction of dams and skyscrapers.

4. Increasing wealth and money-minded attitudes in
modern society

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 8247244713 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The Tsunami is a term taken from
1. The Japanese Language.
2. The Chinese Language.
3. The Arabic Language.
4. The Korean Language.

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 8247244714 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The importance of mangroves is obvious from the first
three lines of the passage. which of the following supports
this arguments ?
1. Mangroves belong to rare species of trees in coastal
areas which are used in building construction
2. Mangroves are the ancient tribes who live in coastal
area and protect the people against violent storms
3. The string root system of mangrove trees form a
natural barrier against violent storm surges and
floods in coastal areas.
4. In coastal areas people used to worship mangroves
as deity who protected them from natural disasters

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 8247244715 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a greenhouse gas?
1. Carbon dioxide
2. Methane
3. Chloroflurocarbon
4. Hydrogen

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 8247244716 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The most ferocious effect of global warming will be
1. increasing cases of skin cancer
2. polluted water and health disorders.
3. Increase in sea level and flooding of coastal areas
4, Reduction in agricultural production

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 8247244717 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is nearest in meaning to the word
‘degradation’ as used in the passage (Para 1)?

1. disruption

2. destruction

3. debasement

4. discrimination

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 8247244718 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following words is opposite in meaning to the
word, ‘advanced’ as used in the passage (para 2)?

1. poor

2. backward
3. unskilled
4. traditional

Options:



1.1
2.2
3.3

4.4

Question Number : 98 Question Id : 8247244719 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which part of speech is the underlined word in the
following sentence?
Global warming is a matter of serious concern.

1. Adjective

2. Noun

3. Adverb

4. Pronoun

Options :
1.1
2.2
3.3

4.4

Question Number : 99 Question Id : 8247244720 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which part of the following sentence contains an error?

If he had needed his father’s advice
(a) (b)
He will not have faced this worrying situation.
(c) (d)
1. el
2. (a)
3. (d)
4. (b)

Options :

1.1



2.2
3.3
4.4

Question Id : 8247244711 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension

Read the passage given below and answer the question that by choosing the correct/most
appropriate options.

1. Development has indeed caused a high degree of environmental degradation in many
countries and not just the displaced people but all of the population is beginning to feel the
consequences. When the ‘tsunami’ hit the South and South — East Asian coasts in 2004, it was
observed that the destruction of mangroves and the building of commercial enterprise along the
shore line was the reason for the greater extent of the damage caused. You must have read
about global warming. The ice in the Arctic and Antarctic is melting because of increased
emission of greenhouse gases into the atmosphere and this has the potential to cause floods
and actual submerge low lying areas like Bangladesh and the Maldives. In the long term, the
ecological crisis will adversely affect all of us. Air pollution is already a problem which does not
discriminate between the rich and the poor. But in the short term, indiscriminate use of
resources tends to adversely affect the underprivileged more sharply. Loss of forest affects the
poor who use forest resources for a variety of subsistence needs like firewood , medicinal herbs
or food

2. Drying up of rivers and ponds and falling ground water levels means that women have to
walk longer in order to procure water. The model of development we are pursuing is heavily
dependent on the increasing use of energy. Most of the energy currently generated in the world
is from non-renewable sources like coal or petroleum. Large tracts of the Amazon rainforests
are being deforested in order to provide for the increased consumer needs. Are there enough of
these non-renewable resources which can allow not only the advanced countries but all people
in the world to enjoy an affluent life style? Given the finite nature of these resources, the
answer would be no. What about the future generations? Are we going to hand over a depleted
earth and multiple problems to them?

Sub questions



Question Number : 91 Question Id : 8247244712 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is meant by ‘Development’ as the cause of
environment degradation?

1. Increasing population and changing life styles of the
people

2. Mushroom growth of urban centres and human
settlements

3. Deforestation, emission of greenhouse gases,
construction of dams and skyscrapers.

4, Increasing wealth and money-minded attitudes in
modern society

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 8247244713 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The Tsunami is a term taken from
1. The Japanese Language.
2. The Chinese Language.
3. The Arabic Language.
4. The Korean Language.

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 8247244714 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

The importance of mangroves is obvious from the first
three lines of the passage. which of the following supports
this arguments ?
1. Mangroves belong to rare species of trees in coastal
areas which are used in building construction
2. Mangroves are the ancient tribes who live in coastal
area and protect the people against violent storms
3. The string root system of mangrove trees form a
natural barrier against violent storm surges and
floods in coastal areas.
4. In coastal areas people used to worship mangroves
as deity who protected them from natural disasters

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 8247244715 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a greenhouse gas?
1. Carbon dioxide
2. Methane
3. Chloroflurocarbon
4. Hydrogen

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 8247244716 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The most ferocious effect of global warming will be
1. increasing cases of skin cancer
2. polluted water and health disorders.
3. Increase in sea level and flooding of coastal areas
4, Reduction in agricultural production

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 8247244717 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is nearest in meaning to the word
‘degradation’ as used in the passage (Para 1)?

1. disruption

2. destruction

3. debasement

4. discrimination

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 8247244718 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following words is opposite in meaning to the
word, ‘advanced’ as used in the passage (para 2)?

1. poor

2. backward
3. unskilled
4. traditional

Options:



1.1
2.2
3.3

4.4

Question Number : 98 Question Id : 8247244719 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which part of speech is the underlined word in the
following sentence?
Global warming is a matter of serious concern.

1. Adjective

2. Noun

3. Adverb

4. Pronoun

Options :
1.1
2.2
3.3

4.4

Question Number : 99 Question Id : 8247244720 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which part of the following sentence contains an error?

If he had needed his father’s advice
(a) (b)
He will not have faced this worrying situation.
(c) (d)
1. el
2. (a)
3. (d)
4. (b)

Options :

1.1



2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 824724256
Question Shuffling Allowed : Yes

Question Id : 8247244721 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension

Read the following extract and answer the questions by choosing the
correct/most appropriate options:

Far from the madding crowd’s ignoble strife ,
Their sober wishes never learn’d to stray;
Along the cool sequester’d vale of life
They kept the noiseless tenor of their way

Let not Ambition mock their useful toil,
Their homely joys, and destiny obscure;

Nor Grandeur hear with a disdainful smile
The short and simple annals of the poor.

The boast of heraldry , the pomp of pow'r,

And all that beauty, all that wealth e’er gave,
Awaits alike th' inevitable hour.

The paths of glory lead but to the grave.

Sub questions

Question Number : 100 Question Id : 8247244722 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The inevitable hour refers to
the moment of death
the time of punishment
the days of calamities
the Divine Judgement

Ll



Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 8247244723 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following most appropriately describes
the poetic spirit of the above stanzas?

1. Political protest on behalf of the downtrodden and
anger against the rich

2. A pessimistic philosophy of life

Lamenting the lot of the buried souls.

4. The poet’s sympathy for the simple, poor villagers
buried in the graveyard

e

Options:
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 8247244724 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements.
A. The poet admonishes the high and mighty for
mocking the poor
B. The poet advises the peasants not to complain
about their lot.

A is false and B is true
B is false and A is true
Both A and B are false
Both A and B are true

o LA



Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 8247244725 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Identify and name the figure of speech used in, ‘the cool
sequester’d vale of life’

Simile
Personification
Metaphor

4, Metonymy

W N

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 8247244726 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following phrases cannot be associated with
the simple humble peasants?

boast of heraldry
destiny obscure
simple annals

4. useful toils

il v

Options:
1.1

2.2



3.3
4.4

Question Number : 105 Question Id : 8247244727 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The figure of speech used in “Let not Ambition mock their
useful toil ”

Personification
Hyperbole
Simile

4. Alliteration

ol e B

Options :
1.1
2.2
3.3
4.4

Question Id : 8247244721 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension



Read the following extract and answer the questions by choosing the
correct/most appropriate options:

Far from the madding crowd’s ignoble strife ,
Their sober wishes never learn’d to stray;
Along the cool sequester’d vale of life
They kept the noiseless tenor of their way

Let not Ambition mock their useful toil,
Their homely joys, and destiny obscure;

Nor Grandeur hear with a disdainful smile
The short and simple annals of the poor.

The boast of heraldry , the pomp of pow'r,

And all that beauty, all that wealth e’er gave,
Awaits alike th' inevitable hour.

The paths of glory lead but to the grave.

Sub questions

Question Number : 100 Question Id : 8247244722 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The inevitable hour refers to
the moment of death
the time of punishment
the days of calamities
4, the Divine Judgement

e =

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 8247244723 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which one of the following most appropriately describes
the poetic spirit of the above stanzas?

1. Political protest on behalf of the downtrodden and
anger against the rich

2. A pessimistic philosophy of life

Lamenting the lot of the buried souls.

4. The poet’s sympathy for the simple, poor villagers
buried in the graveyard

g,u

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 8247244724 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements.
A. The poet admonishes the high and mighty for
mocking the poor
B. The poet advises the peasants not to complain
about their lot.

A is false and B is true
B is false and A is true
Both A and B are false
4. Both A and B are true

L el

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 8247244725 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



ldentify and name the figure of speech used in, ‘the cool
sequester’d vale of life’

Simile
Personification
Metaphor

4, Metonymy

Ll

Options:
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 8247244726 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following phrases cannot be associated with
the simple humble peasants?

boast of heraldry
destiny obscure
simple annals

4, useful toils

ol e B

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 8247244727 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The figure of speech used in “Let not Ambition mock their
useful toil ”

Personification
Hyperbole
Simile

4. Alliteration

ol e B

Options :
1.1
2.2
3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 824724257

Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 8247244728 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ankita a teacher of class Ill finds that some learners prefer to get new information in written form instead of verbal
information. Their learning style is :

1) auditory

2) visual

3) kinaesthetic
4) aesthetic

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 8247244728 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Ankita a teacher of class Ill finds that some learners prefer to get new information in written form instead of verbal
information. Their learning style is :

1) auditory

2) visual

3) kinaesthetic
4) aesthetic

Options:
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 8247244729 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher in class IV has given a task on role play where the learners are asked to exchange their idea in a given
situation. Which skill is she trying to enhance?

1) Acting

2) Writing
3) Speaking
4) Reading

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 8247244729 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A teacher in class IV has given a task on role play where the learners are asked to exchange their idea in a given
situation. Which skill is she trying to enhance?

1) Acting

2) Writing
3) Speaking
4) Reading

Options:
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 8247244730 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher should use the learner’s mother tongue while teaching in the classroom because :
1) Each child will learn at the same pace if they are taught in their mother tongue.
2) Learners will answer all the questions if they are learning in their mother tongue
3) Learners will understand the new concepts easily and feel more accepted in the classroom
4) There will be least distraction in the class

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 8247244730 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher should use the learner’s mother tongue while teaching in the classroom because :
1) Each child will learn at the same pace if they are taught in their mother tongue.
2) Learners will answer all the questions if they are learning in their mother tongue
3) Learners will understand the new concepts easily and feel more accepted in the classroom
4) There will be least distraction in the class

Options :



1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 8247244731 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

How can a teacher develop good writing skill in the budding writers?

1) By giving clear instruction on the topic and word limit.

2) By praising learners what they did well and making specific comments to improve further.
3) By asking learners to write in a good handwriting.

4) By giving learners detailed feedback only on their grammatical errors.

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 8247244731 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

How can a teacher develop good writing skill in the budding writers?

1) By giving clear instruction on the topic and word limit.

2) By praising learners what they did well and making specific comments to improve further.
3) By asking learners to write in a good handwriting.

4) By giving learners detailed feedback only on their grammatical errors.

Options :
1.1
2.2
3.3
4.4



Question Number : 110 Question Id : 8247244732 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The purpose of formative assessment is

1) to make comparison between different students.

2) labelling students as intelligent, average , or slow learners.

3) to use a variety of ways to collect information about the students learning.
4) to conduct class test regularly on weekly basis.

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 8247244732 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The purpose of formative assessment is

1) to make comparison between different students.

2) labelling students as intelligent, average , or slow learners.

3) to use a variety of ways to collect information about the students learning.
4) to conduct class test regularly on weekly basis.

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 8247244733 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



For teaching children of class |, we should focus more on oral language development. Which of the following classroom
practice will enable learners to enhance oral language skill at class?

1) Role play

2) Grammar games
3) Singing rhymes

4) Learning alphabets

Options:
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 8247244733 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

For teaching children of class |, we should focus more on oral language development. Which of the following classroom
practice will enable learners to enhance oral language skill at class?

1) Role play

2) Grammar games
3) Singing rhymes

4) Learning alphabets

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 8247244734 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Ateacher is reading a story from a textbook about a girl who is looking after a sparrow and feeding it. Suddenly a boy
Ali stood up and told the teacher how one day he saved an injured squirrel which was lying in the park. Ali's reaction to
the story can be described as

1) connecting the text with his personal experience

2) interrupting the teacher in between

3) an opportunity to speak and show that he is active in the class
4) his attention seeking nature in the class

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 8247244734 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ateacher is reading a story from a textbook about a girl who is looking after a sparrow and feeding it. Suddenly a boy
Ali stood up and told the teacher how one day he saved an injured squirrel which was lying in the park. Ali's reaction to
the story can be described as

1) connecting the text with his personal experience

2) interrupting the teacher in between

3) an opportunity to speak and show that he is active in the class
4) his attention seeking nature in the class

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 8247244735 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Ateacher has given a language task to be done in groups. What will be the role of a teacher during this group work?

1) Ensure that the task is finished on time so she should remind them the time again and again.
2) Ensure that everyone should participate in a group and try to support them if required.

3) The teacher should give full autonomy to the groups, so she should sit aside on a chair.

4) Ensure that students should not make noise in the class.

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 8247244735 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ateacher has given a language task to be done in groups. What will be the role of a teacher during this group work?

1) Ensure that the task is finished on time so she should remind them the time again and again.
2) Ensure that everyone should participate in a group and try to support them if required.

3) The teacher should give full autonomy to the groups, so she should sit aside on a chair.

4) Ensure that students should not make noise in the class.

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 8247244736 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Reading comprehension is ability to

1) translate the written symbol into corresponding sounds.

2) perceive and decode letters in order to read it fluently.

3) construct meaning by interacting with text.

4) understand all the words in the text to understand its meaning.



Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 8247244736 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Reading comprehension is ability to

1) translate the written symbol into corresponding sounds.

2) perceive and decode letters in order to read it fluently.

3) construct meaning by interacting with text.

4) understand all the words in the text to understand its meaning.

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 8247244737 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following type of questions on a test will be helpful for assessing the creativity of learners?

1) One word question

2) Open ended question

3) Multiple choice question
4) True/false type of question

Options :
1.1
2.2
3.3



4.4

Question Number : 115 Question Id : 8247244737 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following type of questions on a test will be helpful for assessing the creativity of learners?

1) One word question

2) Open ended question

3) Multiple choice question
4) True/false type of question

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 8247244738 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements about language is true?

1) Itis a system of systems

2) It is systematic

3) Itis rule of rules and exceptions
4) Itis an idea of ideas

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 8247244738 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following statements about language is true?

1) Itis a system of systems

2) It is systematic

3) Itis rule of rules and exceptions
4) Itis an idea of ideas

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 8247244739 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Language is learnt best

1) in contexts

2) inisolation

3) in alphabetical order

4) when presented word by word

Options:
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 8247244739 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Language is learnt best

1) in contexts

2) inisolation

3) in alphabetical order

4) when presented word by word

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 8247244740 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The purpose of diagnostics test in language learning is to :

1) give feedback to the parents.

2) fill the progress report of students.

3) plan and prepare question paper for summative assessment.
4) know the group in learners understanding.

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 8247244740 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The purpose of diagnostics test in language learning is to :

1) give feedback to the parents.

2) fill the progress report of students.

3) plan and prepare question paper for summative assessment.
4) know the group in learners understanding.



Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 8247244741 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a child — centred classroom, the teacher should
1) explain the whole lesson sentence by sentence for the convenience of students.
2) dictate the answers to the questions so that students should feel at ease.
3) use such techniques in which students are encouraged to take initiative on their own.
4) demonstrates what a teacher expects from the students.

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 8247244741 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a child - centred classroom, the teacher should
1) explain the whole lesson sentence by sentence for the convenience of students.
2) dictate the answers to the questions so that students should feel at ease.
3) use such techniques in which students are encouraged to take initiative on their own.
4) demonstrates what a teacher expects from the students.

Options :
1.1
2.2
3.3
4.4



Question Number : 120 Question Id : 8247244742 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a constructivist classroom, language learning should be bases on

1) drill and practice of grammatical items.

2) the transaction of the prescribed textbook by the teacher.

3) learners’ previous knowledge in constructing their new knowledge using authentic task
4) the assumption that language can only be learnt if teacher transmits it to the learners

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 8247244742 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a constructivist classroom, language learning should be bases on

1) drill and practice of grammatical items.

2) the transaction of the prescribed textbook by the teacher.

3) learners’ previous knowledge in constructing their new knowledge using authentic task
4) the assumption that language can only be learnt if teacher transmits it to the learners

Options :
1.1
2.2
3.3
4.4
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Question Number : 121 Question Id : 8247244744 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1.1
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Question Number : 122 Question Id : 8247244745 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 123 Question Id : 8247244746 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 124 Question Id : 8247244747 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 125 Question Id : 8247244748 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 127 Question Id : 8247244750 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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4.4
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Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Options :
1.1
2.2
3.3
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Correct Marks : 1 Wrong Marks : 0
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Is Question Mandatory : No
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Question Number : 134 Question Id : 8247244758 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Correct Marks : 1 Wrong Marks : 0
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Question Number : 129 Question Id : 8247244753 Question Type : MCQ Option Shuffling : No
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3. (A)FEElE (R) amr%
4, {A}Wrﬂ%’tmd Hrﬂ%

Options :

1.1

2.2

3.3

4.4

Question Number : 142 Question Id : 8247244766 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



et = HlHMd:ﬁWﬂTWWET%@
. SFIH T W
2. ARIF =

. T F TR W

4. FIF F T[TUT

L]

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 8247244766 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

e = e e w T4 T TR
. IFIF T
2. SARI9E =7
3. TR & T W
4, TTFFFAW
Options :
1.1
2.2
3.3

4.4

Question Number : 143 Question Id : 8247244767 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



|. e U Tas
2. TR % U3
3. H;:{-—H%‘Tﬂm.{qg,-i

4. =G F 9T g T o o0 uss
Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 8247244767 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

|. e U Tas

2. T F TS
3 Hﬂ-—lr%fht.{qdﬁ

4. =G F 9T g T o o0 uss
Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 8247244768 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T & T T FEHTSaRAT 7 74T 27 22
|. Taemers o o9 wreTedy = forerr
. Tt fomemTfed= <t ArTTeT S feneer- sty
3. Toreqifeat it wrsret = v T
4. Tareqferan =t faesft vt dies & w=ed a=ET

Options :

I3

1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 8247244768 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T & T T FEHTSaRAT 7 74T 27 22
|. Taemers o o9 wreTedy = forerr
. Tt fomemTfed= <t ArTTeT S feneer- sty
3. Tarenfear i wTaTeTt = T AT
4. TeTeqTie= =t Taresit WTSTE Wi & 999 §9HT

Options :

I3

1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 8247244769 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



|. U39 T Has 79 T2 FAT B
0. U3 FT HaAE AT G&AT 2
3. UT3T QT o (AR o ik e ua T B

4. g T F [0 U3 AT 2

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 8247244769 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

|. U7 FT HaS AL T2 FATE

2. USH T HaAT (AT U&AT &

3. G ATt 3 R o e 0a 2

4. g T F [0 U3 AT 2

Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 8247244770 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



WTHT AT = I % WY F FEMET I F 39T 4727
|. TeTemfera = A g

. Torerept ot FET e W B EHd ST R

, %ﬁﬁﬁﬁﬁm%uéﬂ%%l{ﬂﬂﬁ CEIETR

4. forafdat st wT e F A TR

Options :

[-J

L]

1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 8247244770 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

W@ﬁliHﬁg%%@M qwﬁ‘ﬂ?ﬁmmw?’
1. Tstenfsar = At forqmr 2r 2
. ToreqTtera =t e o U3 & U w9 a9 B

Options :

[

LS

1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 8247244771 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



WO ST 3 (T, 0 st 3 0 % 7 eI 4 7 T 1 7 61 e T 2 00 U 1 9 3270
e

1. T oA 1 agEn &

), 3fee e B R

3. oy e g &

4 SFeRTETHE ST o S &

Options:
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 8247244771 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T TR 3 e O 3 37 5 7 T U 7 T T ST 1 T 2] e 7 S
)
|, T U3 1 S
), fee o 1 S e
3. Tavega e o &
4 ST IV 1 3TN 3

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 8247244772 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



et o & for we e it e 3 == # 1 SATavgea T8t 20
|. ST F [T=RT &I S w
2. TFEETW
3. e 9TEAT T,
4, AR
Options :

1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 8247244772 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Trateatigd o & T3 U7 FiaaT sh1 el 5 =T=1 3 3 STTavaehal A8 27
|. FEaTF EER AR dmw
2. THFE W
3. T WA W
4, TR UT
Options :

1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 8247244773 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T ST aTef 5 Gt T ATt 3 S1ea ST T 36 T T 2§ 4 e £
|, Fohd ST 9 Hehd o]
2. WTSTE=0
3. Wl T W
4. WIS WY SIEen

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 8247244773 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T ST aTelt 5 Gt /ATt 3 Y1ea ST T 361 A T 2 3 4 e 1)
|, Hed SET 9 Wehd e
2. WIST =0
3. WE T W
4. HHT HITYe SaeR

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 8247244774 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



USRI TSTequT 7 3T 274 27
I Tevemeff = stferm 1 gaw
. TereTteiat o etferm Tt Rveren! % o S H GER T
3. Wi T rafea % freaes & gam we
4. AT W H GAR FEAT

I3

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 8247244774 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

SU=TRTCH: TSTeq0T 7 3T 274 297
1. Taremeff = At =t gamn
. TRTeATIIET % AR TAT RTEERT o TR0 ST H GAR AT
3. wvewr & fanentet & ST 3§ guw
4. T TG H FAT FAT

[

Options :
1.1
2.2
3.3
4.4



